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I Sources for Halakhic determinations based on npmn, a1
a  Aprm My " —v. 1, 103 declares house to be yan even though he has gone outside
i Challenge (37¥7 72 K 77): perhaps he walked out backwards, keeping an eye on the spot before declaring
ii ~ Block (728): 2 responses
1 Walking backwards: not called nx»x
(a) Counter (827): yes it is, per ¥"N2’s exiting 7"pTp on 2"nY
2 Behind the door: is still out of range; he can’t open a window, per »:1 nyn
(a) Counter (x¥27): once there is a npm that the house is afflicted, may open a window
iii ~ Support (contra 37y’ 72 8K 77): 1250 W1 on v. 1 — 113 doesn’t go to his own home, or remain in the afflicted house
and declare, but if he did so — declaration is valid (clearly out of visual range)
1 Defense (3792 72 8nx *7): could be a row of people from afflicted house to his, testifying to continued state
b 217 aan which is before us, such as counting the votes of a court or the case of the “9/10 stores” —v. 1
i Question: regarding a 1np RYT RaM, such as allowing a nMvp jop to cohabit in anticipation of ma», based on a1
people don’t turn out to be sterile (which would be a violation of mxn Dipna XYW NR NWYR)
1 x77:v.2-we put head of 0 on top of nam, without cutting it open to check if it is a 190 (based on 117)
(a) Challenge: perhaps we can fold back the skin to check, without an extra cut
2 N2377 8772 79 v. 3 — not breaking bone in noa = can’t cut head open to check for narv
(a) Challenge: perhaps he smoked off the skin to check — not a violation
3 77 v. 3 - the tail must remain whole (nmm1n) and can’t check for na»v
(a) Challenge: perhaps he can check underneath without cutting it off, thus not violating nnnn
4 pN 97 772 nwY 77 v. 4 — the N%y must be complete before nary
(a) Challenge: perhaps there is no requirement that it not be a na»v
(b) Answer: since 193 is mentioned in that ceremony (0'w7p3) — limitation applies
5  N»v 77912737 vv. 5-6 — na must be burned “whole” (can’t check)
(a) Challenge: perhaps there is no requirement that it not be a na»v
(b) Answer: since it is called a nxon (D'w1p1) — limitation applies
6 3Py 12 8NK ’7.v. 7 — DYV must be equal; nYnwnn YW cannot be checked, and both must be fit for n’a
7 1 v. 10 — we execute “son” for striking father, based on yan anx m5ya an
(a) Challenge: perhaps that only applies when F and M were in prison together (no other possible father)
(b) Answer: in any case, N7y DIIVIOR PR and licentiousness is always possible
8 577 from death penalty for murder, even though we don’t know if victim was a na»v
(a) Challenge: perhaps we perform an autopsy to confirm
(b) Answer: that is degrading
(i) Challenge: perhaps we degrade the victim’s body to possibly save the perpetrator’s life
(if) Answer: won't solve it — perhaps he killed him right at the earlier (n910) wound
9  nrarv.11 -Kkilling nmr 071y; even though their victim may be a n9»v (can’t execute unless he’s still alive)
10 »wn "7 comes from nVNY itself — even though he may have slaughtered at the place of a 2p1 — we follow a1
(a) Story:»wr "1 reported that ' "1’s reaction was — perhaps we only rely on 1211 where impossible to know
(i) Therefore: we would require checking for all 18 namv »no
(if) Support: n™, who is concerned with V1’1, would never eat meat (impossible — DwTp!)
(iii) Rather: we only rely on 217 where there is no better determinant (see 2 approaches in noa n”1 1)
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